EARAROBREBRT —5 XN—ZXBISH—F 202211888 (N) 1708R28

ELl ) | FiE s 4 8IS o 2R C29 USH—® ERE IR
[xE&] 1%&:350,000H  2&:112,000H  3#&:5,000H  43%&:42,000H  53&:35,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
Ry R 3 | SEEA 1:30.1 3-2-1-1 [39.0 - 1 493 | HbE—th (@R
1179 |YI7PA22FTILR " 56.0 ) @) | FAFYL=RK=2R ()
RiUVAVF4—R B:RU—LTFZRU—LA BHIT7—LA
R LHEE : -2-3- - )|z &R)
) 3| PYEF55 4 3 ol 1.(333.8 4-2-3-3 | 39.3 4 21_222) Al
RiRSSXYTF B:FIYRTIAL %ﬁ# =
— — 43 | PEELE 1:30.9 1-1-2-2 [39.7| - 2 Mo | EEEE @R
31812/ 7= 56.0 (1/72) +2) %E,:_
—UR #1794 vy—X Bl @
= O . BEHELE : -5-4- - JIERBEEL (&R)
4 2 Iy ROEY A 4t 3 B 22311/21; 5-5-4-3 | 39.8 3 (4+72(; ij e
RPAUAYRA NIAy b BT ATISS BORES
= 3 | EISHRE 1:31.6 7-6-6-6 | 38.9| — 6 | 428 |FHE—th &R
5 7 |FL3>00 # 56.0 (3/4) o |BEZB
R:T—URI—R B:FLSAX—UT W EE
o BOIES : -4-5- - HH—th (&R
6/5/6|YHMLN=T "3RS 7, T R ° ff;) AL
RiR—ANR B:1RI—U—RA 2E Bh
e 3 | RRAT 1:33.0 7-7-7-7 | 40.0| - 8 #8 | BIBsLE &R
7155 20Y745 56.0 @ 5 | BlIR
RT—IVRI—Z 8B:UN—P FR -
g B3| BMEHD 1:33.9 9-9-9-8 |40.8| - 7 | 468 |WEH— &R
81710/ 7—/ILE 56.0 @ (+6) | EIEIEEAERS
R:TvVIWRTy b B:FvA4FRUR BRESH IRTAT7—L
N 3 | BREBKHE 1:34.0 9-8-7-9 |41.0| -— 12 | 49 |FHEE (&R)
9 4 FIVFA i 54.0 &) 13) T(ﬁf J P NEEF
RiZvF—7A) B:Za—-IFqvav Pz ]
S ~ 4 5 | BETR 1:34.3 11-11-11-12| 40.2 | - 9 a5 | MBI (ER)
10 8 vEF—IHF v $¢55.0 a1/2) © FHEA
RiF4—=FITUSYF B:SvF—FA2R =Ht =£tb
== 48 | fAK— 1:34.4 12-12-12-10| 40.2 | — 11 | 466 |SH-R &R
M1 177274—~X— 56.0 172 (3 |REE
RiFVIARZN B:F7—RAYVT F—U— - Iv I\ - T7—LBRR
*= S % 6 | HMPEth 1:34.7 5-10-10-11 | 41.1 | — 10 | 466 |EH—8 &R)
12/8|11| FF751 5.0 (17 Cy |EeE
RiF—FI5v3 B:UFHIELD Jetss
@ 11— —®BIEfI
13—7— 12,6,9,3,(2,11),(5,7), (4,10),8,1
23— — 12,(3,9),6,2,7,5,4,10,11,8,1
30—7— 9,12,3,2,6,7, (4,5),10,11,8,1
43— — 9,12,(2,3),6,7,5,10,4,1,11,8
o ILRE
B B 9 130 JA R 3-9 2704 % 5E 3-7 1,180 3EE 3-9-12 570M4
7B B 9 100/ 9-12 120 B 7-3 1,120 3EH 9-3-12 3,010
3 140 3-12 260/ /B & 3-9 1,320
12 1004 =51 93 870M4

ABCDOVTIRHTERERRODDZ, THERAILZETL



